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N = 0 &8 AF S & Al A
20113 20a LESIH 2AJAR= ~ QJAR=
A 23 AIR =
M Xgols 29
SR QAR Y (e dS)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
O ME= 842,270 831,753 10,517
Xeog 29 821,786 811,269 10,517
oA2H 13,984 14,088 A104
Oy ARs™ i 13,984 14,088 A 104
201 Lt AH| 10,884 10,188 696
01 AFR22(H] 10,884 10,188 696
OIS E 2= 1,884
PPN 5,000& x5 +12& 300
Xl et XX 6,000 x4 2«12 288
F2UHOH 30,000 x 12«12 360
NERS 936
- S 15,0002 x282 122 360
- XX 12,0003 x4 2+ 12& 576
OQJAALRAHAL 2T} AWK
600, 0002 x6H *23| 7,200
O2dnNEss A== 300,000& x6H 1,800
202 OiH| 900 900 0
01 2o Y| 900 900 0
O9FUENUE WU 150,000 «6H 900
203 R &I 1,600 1,600 0
03 AMZ=XAR2FZXIY| 1,600 1,600 0
O9&EZE =& 1,600,000& 1,600
405 KHAHESHI 600 1,400 A 800
02 AT 600 1,400 A800
Oo&dXzs =N 2 20,000& 30 600
o NES 807,802 797,181 10,621
&8s A& 752,242 760, 101 A7,859
201 LBt AH| 43,867 48,065 A4, 198
01 AF222(4] 34,155 38,690 AN4,535
O™} M= 15,0002 x20082 3,000
O3|oE HMAAEY SAEE
30,000,000 *12% 3,600
Ocdgs 2tdHE HE 15,000& * 1002 1,500
OZALE HI= 10, 000 #4004 400
O3zlo s a2t 19,600
INE! 1,200,000 83| 9,600
g 5,000,000 x23| 10,000
O ANLA 2IA=2E ¢ 2,657
dOIMERIHD EU 150,000 *3H 450
22Ol ERIHD| E 512,300 14 513

_1_



A 2ASAIR=
I NL2ds 29

ol o FES (el &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Zete Ol ZEl I & 264,000 =14 264
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SAMEX 15,0002 *108f A 150
CARES 400,000& 400
- Ab&lel st 3003 20001 = 12& 720
Oo3ad Mo 800
g 2 SEO0| ME(HE, HSE)

2,000 x200& 400
239 &¥ae ARE P 400,000& 400
OodE UH2HEA =4 7,0003+22x12& 1,848
OBIIA 2858 7Y 250,000& 34 750

02 =234l 9,712 9,375 337
OFUHE A2 540
=z 15,0002 *1CH=12& 180
ANEZ 30,000& 1CH+12& 360
IAMELY RHSHZ 28,0503+ 12& 337
(OFI= SN 6,326
oM E 3,810,000 = 1CH 3,810
HERE 2,516,000 «1CH 2,516
OxesEes 550
o E 350,000 = 1CH 350
YRS 200,000 = 1CH 200
OXts XAl 759
oEE 2203 *2,493cc 549
HEE 140& *1,495¢cc 210
oREZ 100,000& = 12& 1,200

203 HRF&H| 3,200 3,200 0

03 AIMFXAHE =&Y 3,200 3,200 0
O23MNE= RFA 3,200,000 3,200

205 2l3/H| 683, 100 682,740 360

01 2 HE=H| 198,000 198,000 0
Oz g=sl 900,000x 15« 12& 162,000
O X & EH| 200,000 158 128 36,000

02 8sY 324,000 324,000 0
(OF-FSE=, 1,800,000 15 x123 324,000

05 SF2IESZH 64,800 64,800 0
Oo32dg3s &l 4,800,000& *15%H *90% 64,800

06 J|22IHFF=&HI 69,660 69,660 0
OJI 222 =2al 69,660
o 2,400,000 * 12 » 123 x90% 25,920
2o 1,200,000 » 12 123 »90% 12,960
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A BB C(3I0) - NIRAY - BaS Aol Sl aton HRE2
SHUARHE 900,000 3 »12& x90% 29,160
A E 900,000& 1 2= x90% 1,620
08 AA=RIGILLS 14,760 14,400 360
CIA=RHAIRES 82,000 15~ 123 14,760
09 A=A RES 11,880 11,880 0
OoARVAALHT 11,880
SUALBEHREES 60,000+ 15 122 10,800
T RYRHRES
6,000 «15H 128 1,080
304 HSFRE=S 20,000 20,000 0
03 & RE = 20,000 20,000 0
ogdANHRYS 20,000,0002! 20,000
405 AHoHFESHI 2,075 0 2,075
01 RAUSEFHSY) 2,075 0 2,075
O2l g/ & & 2,075
QW= 1,155,000& = 1CH 1,155
Ol2ctol N 710,000 = 1CH 710
(OFSE=R= Pl 210,000 1 CH 210
HuF 55,560 37,080 18,480
201 LetE2El 560 280 280
01 AtR 22/l 560 280 280
O ZLR2A0Y AN BaLY
70,000 »4H #23] 560
202 O4Hl 12,600 12,600 0
01 WY 5,400 5,400 0
Oo®Eets U EIR HITAIE
150,000& »12H 33| 5,400
03 =2HFNHHI 7,200 7,200 0
OdT=oI3 HIDAIE 3T
1,800,000& =4 7,200
205 2|3yl 42,400 24,200 18,200
03 WYl 9,000 5,000 4,000
OZR48o” ol 9,000, 000%! 9,000
04 22044l 28,400 14,200 14,200
O&& 25 HIWAIZ 28,400
o E 2o 2,500,000& x2H 5,000
- oA 1,800,000& 13 23,400
07 ABEHAMLLS 5,000 5,000 0
O @AM FE3 5,000,000& 5,000
EETTCENEED 20,484 20,484 0
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